A77002 Grain silo roof ladders D10,6 M22; page 1

A77002 GRAIN SILO ROOF LADDERS D10,6 M22 ***

\YA

= e
<]

f 4 4 4 /
i e ; .-'.I F f
o ’i'l. r |'. _.
& i
ei—is |
i, Y/,
A
'y
Fy

/],

\/

o

2\

AN\

AR

[

R e 3
- 2 ____-' i .. '. 9 ’ . f
e A\ i L iy |
=l - E i AN IR w
= e G I =
_il 8 2 # 5 : [ I.. V
et A ¢ i 1
g e r 9 s o, A ' . ! .
= i AL A v . § S ' F
e LL | | s L - L L= & F [ 19
= - VY o r - 'y
T ———— | — 5 / f . r
'| = L o i : ¢ ¢ .-'i
A A F i —. s . il 3
I ik i - — .
A . !
\ A e A Ay 4 /'/ q
\ =% Y\ LA e - ! .I'L L
) ¥, S ol r f ! AAF
i i - v 4 - A o !
'|I A 1'. "_ / Al 1 & Fa A Iy - '. !
h g A A 4 iy o
A A [ o/
" i
i
|




A77002 Grain silo roof ladders D10,6 M22; page 2

_AT7383

Top edge of
silo wall

" ok i

7

&, "m Z
by

Install the first roof lader rails as shown in the picture.

- First, a short ladder element is installed (A77363)

- Next, the upper exit guides A76253 are installed
(See also installation instructions for wall ladder and the
guard-rails)

-‘I
_-ATT136 I
— - : >

-—]'- il# = ATT136 - H_,,-*M;E: | MBx1 4

i' |"'”"# = ATT138 - _'__.#"“* 'ﬁ

= = =

f’i‘_fﬁ J/’_,..-' = ATT134 SATTIIT i |

= = ~AT7136

=1 o # ot T

= = AT

& — — S _-A77138

.'._.__,,'- il ~"_LATT140
] " =

A ATTIIP




A77146P
N

A77002 Grain silo roof ladders D10,6 M22; page 3

Item Denomination Pcs
A77363 LADDER SHORT L=1450 M22 1
A77133 GRAIN SILO ROOF LADER STEP M22 9
A77134 GRAIN SILO ROOF LADER POST M22 10
A77135 GRAIN SILO ROOF LADER FASTENER M22 18
A77143 GRAIN SILO ROOF LADDER RAIL D10,6 M22 8
A77145 GRAIN SILO ROOF LADDER JOINT M22 4
104261 SCREW COACH SCREW ZN 10.9 8X16 AM ISO 7380-2 71
104264 SCREW COACH SCREW ZN 10.9 8X30 AM ISO 7380-2 38
110540 NUT M8 ZN 8 DIN934 109
A77146P GRAIN SILO ROOF LADDER RAIL PACK. M22 1
A77136 GRAIN SILO ROOF LADER RAIL SHORT A M22 6
A77137 GRAIN SILO ROOF LADER RAIL SHORT B M22 3
A77138 GRAIN SILO ROOF LADER VERTICAL RAIL M22 1
A77139 GRAIN SILO ROOF LADER RAIL SHORT C M22 1
A77140 GRAIN SILO ROOF LADER BRACKETM22 1
104261 SCREW COACH SCREW ZN 10.9 8X16 AM ISO 7380-2 37
110540 NUT M8 ZN 8 DIN934 37




A77002 Grain silo roof ladders D10,6 M22; page 4

) ek B _A77143 The rer_nalnlng_steps and and railing parts are installed as
= shown in the picture.

Maxlé
| @D |
o ~ . h .__H‘R
T~ AT71343 e ~_
S~ =1l  AT7145 i “H,,
Medss ATTI33
%1% J -x,x“‘q—: . I

~
?h‘*'w-- ‘fd' S/ ""‘-\-.__\_\-H-
q-.x‘f ! -

b - .I'.l -\""."]:‘-‘-
Mi.{fg / e ‘-{. ;
e dss /-
- P H
L3 .-"'r { '““{‘?% .- Hﬁf"

, xﬂ?"w’;
“ATTI35

ol
~ATTI35




A77146P
N

A77002 Grain silo roof ladders D10,6 M22; page 5

Item Denomination Pcs
A77363 LADDER SHORT L=1450 M22 1
A77133 GRAIN SILO ROOF LADER STEP M22 9
A77134 GRAIN SILO ROOF LADER POST M22 10
A77135 GRAIN SILO ROOF LADER FASTENER M22 18
A77143 GRAIN SILO ROOF LADDER RAIL D10,6 M22 8
A77145 GRAIN SILO ROOF LADDER JOINT M22 4
104261 SCREW COACH SCREW ZN 10.9 8X16 AM ISO 7380-2 71
104264 SCREW COACH SCREW ZN 10.9 8X30 AM ISO 7380-2 38
110540 NUT M8 ZN 8 DIN934 109
A77146P GRAIN SILO ROOF LADDER RAIL PACK. M22 1
A77136 GRAIN SILO ROOF LADER RAIL SHORT A M22 6
A77137 GRAIN SILO ROOF LADER RAIL SHORT B M22 3
A77138 GRAIN SILO ROOF LADER VERTICAL RAIL M22 1
A77139 GRAIN SILO ROOF LADER RAIL SHORT C M22 1
A77140 GRAIN SILO ROOF LADER BRACKETM22 1
104261 SCREW COACH SCREW ZN 10.9 8X16 AM ISO 7380-2 37
110540 NUT M8 ZN 8 DIN934 37




